=
<

fe) =
< =)
o =
= 8
S . k)
k) : =
4 : ©
: : 107}
I 0 | | SO SO || SR
H 1072

B OO | R T T

10

Ratl
Ratio

0.95

3 -2 -1 0 1 2 3 098331 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_NOBATCH__RECO
—— DQM_V0001_R000000001__Global__CMSSW_BATCH__RECO
1

= . -
= : : 1]
5 Loy PN N L R P e PR 5]
2 : : =
-~ : : —~
< : -
5 L..... A ORI S, SO SRR S
o : =2
3 ©

107}

107}

10\—1%....!

0.9

3 2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ll

=

0L p/p,)

107}

0.9

1l

3 2 1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


